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Directions to candidates:

* Answer all questions on the writing paper provided (
* Start a new page for each question

* All questions are to be attempted.

* Marks may be deducted for careless or badly arranged work

e All necessarv working must be shown in everv question.
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Question 1 Start a new page

(2) A(2,-2), B(-2,-3) and C(0,2) are the vertices of a triangle ABC.

(i)  Draw aneat sketch of the triangle

(ii)  Find the length of AC

(iii)  Find the gradient of AC.

(iv)  Show that the equation of AC is 2x +y -2=0

(v)  Find the shortest distance from the point B to the line AC.

| : .
(vi)  Find the area of AABC

| (vii) Find the equation of the median BF (thc? Ii

midpoint of AC)

ne joining B and F, the
|

TS
@iii)j Find the coordinates of D if ABCD is a parallelogram

-

| C

(b) Find thé equatioél of the line through the intersection of the lines x +y -2 = 0
and 2x-y-1=0 and the point (-1,5) without finding the point of intersection

of the lines.

Question 2 Start a new page

@If f(x)= 2%
(i) evaluate f(1)

(ii) find the value of x if f(x)=1

(b) (i) Sketch the graph of the following function

f(x)=

x+3 ifx=<3
3 ifx>3

(ii) Evaluate £(-2)+ f(3)+ £(6)

(c) (i) Sketch the graph of y = |x|+1 showing all essential features.

(i) Shade the region defined by y = [x|+1

(d) (i) What is the domain and range of y=2% ?

1

r+1

(ii) What is the domain of y =

?
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Question 3 Start a new page

(2) Find the value of x
Give reasons.
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(b)
!
\% X o
In the triangle WXV, YZ=9cm, VX=12cm, WX=8cm and YZ [[VX.
6] \Copy the diagram and add the given information onto your page
(i)  Prove tﬂ;at AWZY ||| AWXV
(iii)  Find the length of WZ /5
(c) ABCD is a square of side length 10cm. M is the midpoint of BC and N is the
midpoint of CD.
D | A
10em
N
{ {
C M B
(i) Prove that AABM = AADN.
(i)  Find the area of the quadrilateral AMCN. Give reasons /5
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